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sin(—a) = —sina
cos(—a) = cosa
tan(—a) = —tana
cot(—a) = —cota
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sin(r — a) = sina

cos(mr — a) = —cosa
tan(mr — a) = —tana
cot(m — a) = —cota
sin(r + a) = —sina
cos(m + a) = —cosa

tan(m + a) = tana
cot(m + a) = cota
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cot (F — CX) = tana
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Sin (F + a) = cosa
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CcoS (F —+ a) = —Ssina

T
tan (F + a) = —cotx

cot (g + a) = —tana
2k — a (gLl (55l (glaocuws -F
sin(Ykmr — a) = —sina
cos(Ykmr — a) = cosa
tan(Ykmr — @) = —tana
cot(Ykmr — a) = —cota
2k + a gLlg; 5o lacows -V
sin(Ykm + a) = sina

cos(Ykm + @) = cosa
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tan(Ykm + a) = tana

cot(Ykm + a) = cota
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